
SINGLE TIER DUMBBELL RACK

Page 1



ITEM QTY. PART NO. Paragon P/N DESCRIPTION CHINESE DESCRIPTION
1R 1 P20-3288 PTD ASSY, STDR BASE RIGHT 支撐管組 右
1L P20-4527 PTD ASSY, STDR BASE LEFT 支撐管組 左
2 2 53390PA P04-3051 PTD ASSY, STDR CROSS SUPPORT 連接管組
3 52777PA-A P20-2955 PTD ASSY, RACK 固定管組
4 32 2001101 WASHER, FLAT 3/8 SAE ST ZN 平面華司 20X10.5X1.0T
5 24 2001201 NUT, 3/8-16 LK ST ZN 尼龍螺帽3/8"-16x11T
6 4 BOLT, 3/8-16 X 2 1/2" (64mm) SOCKET HEAD 六角承窩螺絲 3/8"x 2 1/2"L
7 4 2006404 BOLT, 3/8-16 X 1-1/4" (32mm) SOCKET HEAD W/NP 六角承窩螺絲 3/8"x 1-1/4"L 點耐落

8R 1 P04-3050 STDR BASE WELDMENT RIGHT 固定管組 右
8L 1 P04-3946 STDR BASE WELDMENT LEFT 固定管組左
9 4 5257201-A P06-2203 RUBBER FOOT PAD 橡膠墊
10 2 5277701-B P04-2805 TTDR RACK WELDMENT 固定管組
11 20 P06-2140 DUMBBELL RACK, RUBBER 元寶墊
12 20 2005404 BOLT, 3/8-16 X 1-1/4" (32mm) SOCKET HEAD 六角承窩螺絲 3/8"x 1 1/4"L

PARTS LIST

Page 2



#3 P/N 52777PA PTD ASSY, RACK

#1R P/N P20-3288 PTD ASSY, STDR BASE RIGHT

7

1

8R

9

4

3

6
4

2

4
5

1

12

11

10

4

5

4

5

Page 3

8L

9

#1L P/N P20-4257 PTD ASSY, STDR BASE LEFT


	P00-0598 - 圖頁1
	P00-0598A - 圖頁1
	P20-2955 - 圖頁1
	P20-3288 - 圖頁1
	P20-4527 - 圖頁1

